AL HR HD
FRpmw

PR
Iy R A
=

PR 2 T BT BRI T 22

77 /i ,"';": -,, 7 ;
X




ﬁm; SENER S TLERSE




AR = PRI R B ESTARIR S = 3

ABB FB4ifg=
LERIRB L RIPHE R 5 2

ABBEELIIS =D\ EAS RS MR IT TR E L, rISSIIE. B, =Hes. sStEFEREER
FIRFENSIPEFERMHIFERMBLTMAIZENR, BRI EHNSRILE, ERARERE
an, ST E . ABBEELUIR =" mmEF S, I SABBE=IKBLIRIF@mASIER, X5
s,

ABBRE4IIB=RENS MmN NI D E s TIRIME, ENSEINARBIRETIFNR, HRERF
BERETR, NAFERMNBHIBLGRIPBRD R,

FREERE

. EN45545

« Rohs

. EhERE M IEC 60068-2-11:2021
. CE

. UL94 V2




4 AR = BRI R BT RIR S =

EEPhKIBE=

L2154

ERER

R

B

iR

ZERIBRE

RSB

TSt

SHER

{ERRE: -40°C ~ +100°C

BhIREL: IP68

IAIERR

EN45545

Rohs

EhZEE M IEC 60068-2-11:2021

CE

uL94v2

HiEE A C*1 witl w21 RERYE

Fmils ES IRLGRE mm mm mm mm mm ~/8
BCG-CN-M1207 10270165 Mi12x1.5 3~6.5 6 15.5 14 14 108
BCG-CN-M1608 10270166 M16x1.5 4~8 7 19 17 17 75
BCG-CN-M1610 10270167 M16x1.5 5~10 7 22 20 20 75
BCG-CN-M1810 10270168 M18x1.5 5~10 7 22 20 20 48
BCG-CN-M2009 10270169 M20x1.5 5~9 7 24 20 22 48
BCG-CN-M2012 10270170 M20x1.5 6~12 7 24 22 22 48
BCG-CN-M2014 10270171 M20x1.5 8~14 7 27 24 24 48
BCG-CN-M2216 10270172 M22x1.5 11~16 7 31 24 28 48
BCG-CN-M2412 10270173 M24x1.5 7~12 7 31 22 28 18
BCG-CN-M2414 10270174 M24x1.5 8~14 7 31 24 28 18
BCG-CN-M2514 10270175 M25x1.5 8~14 7 31 24 28 18
BCG-CN-M2516 10270176 M25x1.5 10~16 7 31 28 28 18
BCG-CN-M2518 10270177 M25x1.5 13~18 7 335 30 30 18
BCG-CN-M2716 10270178 M27x2.0 11~16 8 335 28 30 18
BCG-CN-M2718 10270179 M27x2.0 13~18 8 33 30 30 18
BCG-CN-M3016 10270180 M30x2.0 11~16 8 38 28 34 18
BCG-CN-M3018 10270181 M30x2.0 13~18 8 38 30 34 18
BCG-CN-M3218 10270182 M32x1.5 11~18 8 40 30 36 18
BCG-CN-M3222 10270183 M32x1.5 15~22 8 40 36 36 18
BCG-CN-M3225 10270184 M32x1.5 18~25 8 44 40 40 8
BCG-CN-M3621 10270185 M36x2.0 14~21 8 44 36 40 8
BCG-CN-M3625 10270186 M36x2.0 18~25 8 44 40 40 8
BCG-CN-M4025 10270187 M40x1.5 16~25 9 495 40 45 8
BCG-CN-M4030 10270188 M40x1.5 21~30 9 495 45 45 8
BCG-CN-M4032 10270189 M40x1.5 22~32 9 55 50 50 8
BCG-CN-M4832 10270190 M48x2.0 22~32 9 57 50 52 6
BCG-CN-M5038 10270191 M50x1.5 30~38 9 66.5 60 55 6
BCG-CN-M5638 10270192 M56x2.0 30~38 9 66.5 60 60 2
BCG-CN-M6344 10270193 M63x1.5 37~44 10 78 65 70 2
BCG-CN-M6353 10270194 M63x1.5 42~53 10 82 75 75 2
BCG-CN-M6444 10270195 M64x2.0 37~44 10 78 70 70 2
BCG-CN-P707 10270196 PG7 3~6.5 6 15.5 14 14 108

BCG-CN-P908 10270197 PG9 4~8 7 19 17 17 75




AR = PRI R B ESTARIR S = 5

i c SRR

W1 (ABB CAT.NO. IP68 CE)

D

X4
AN NN -

<X 3 - —_— —— -
e e i
A R \msEeE !
.’ !
— R4

HiEE A C*1 witl w21 RERYE
Fmils ES IRLGRE mm mm mm mm mm ™8
BCG-CN-P1110 10270198 PG11 5~10 7 22 20 20 48
BCG-CN-P1309 10270199 PG13.5 5~9 7 24.5 20 22 48
BCG-CN-P1312 10270200 PG13.5 6~12 7 24.5 22 22 48
BCG-CN-P1614 10270201 PG16 8~14 7 27 24 24 18
BCG-CN-P2116 10270202 PG21 11~16 7 33.5 28 30 18
BCG-CN-P2118 10270203 PG21 13~18 7 335 30 30 18
BCG-CN-P2921 10270204 PG29 14~21 8 44 36 40 8
BCG-CN-P2925 10270205 PG29 18~25 8 44 40 40 8
BCG-CN-P3632 10270206 PG36 22~32 9 55 50 50 8
BCG-CN-P4238 10270207 PG42 30~38 9 66 60 60 2
BCG-CN-P4844 10270208 PG48 37~44 10 72 65 65 2
BCG-CN-G3/808 10270209 3/8" 4~8 8 22 17 20 75
BCG-CN-G1/210 10270210 1/2" 5~10 8 27 20 24 48
BCG-CN-G1/212 10270211 1/2" 6~12 8 27 22 24 48
BCG-CN-G1/214 10270212 1/2" 8~14 8 27 24 24 48
BCG-CN-G3/412 10270213 3/4" 6~12 8 33.5 22 30 18
BCG-CN-G3/414 10270214 3/4" 8~14 8 33.5 24 30 18
BCG-CN-G3/418 10270215 3/4" 13~18 8 33.5 30 30 18
BCG-CN-G125 10270216 1 18~25 9 a4 40 40 8
BCG-CN-G1/1/432 10270217 11/4" 22~32 9 55 50 50 8
BCG-CN-G1/1/238 10270218 11/2" 30~38 10 64 58 58
BCG-CN-G244 10270219 2" 37~44 11 72 65 65
BCG-CN-N3/808 10270220 3/8" 4~8 13 22 17 20 48
BCG-CN-N1/210 10270221 1/2" 5~10 13 22.5 20 23 48
BCG-CN-N1/212 10270222 1/2" 6~12 13 22.5 22 23 48
BCG-CN-N1/214 10270223 1/2" 8~14 13 27 24 24 48
BCG-CN-N3/412 10270224 3/4" 6~12 13 33.5 22 30 18
BCG-CN-N3/414 10270225 3/4" 8~14 13 335 24 30 18
BCG-CN-N3/418 10270226 3/4" 13~18 13 33.5 30 30 18
BCG-CN-N125 10270227 1 18~25 16 44 40 40 8
BCG-CN-N1/1/432 10270228 11/4" 22~32 16 55 50 50 8
BCG-CN-N1/1/238 10270229 11/2" 30~38 18 64 58 58 4
BCG-CN-N244 10270230 2" 37~44 18 72 65 65 2




AR = BRI R BT RIR S =

TS =

%154

ERER

R

B

PR

REFERE

iR R EERIFNSRME

TSt

SHER

{ERRE: -40°C ~ +100°C

BhIREL: IP68

IAIERR

EN45545

Rohs

EhZEE M IEC 60068-2-11:2021

CE

uL94v2

HiEE A C*1 Wikl w21 RERYE
Fmils ES IRLGRE mm mm mm mm mm ~/8
BEM-TP-P908 10270233 PG9 4~8 7 19 17 17 75
BEM-TP-P1110 10270234 PG11 5~10 7 22 20 20 48
BEM-TP-P1312 10270235 PG13.5 7~12 7 24.5 22 22 48
BEM-TP-P1614 10270236 PG16 9~14 7 27 24 24 18
BEM-TP-P2116 10270237 PG21 11~16 7 33.5 30 30 18
BEM-TP-P2921 10270238 PG29 15~21 8 44 40 40 8
BEM-TP-P3630 10270239 PG36 22~30 8 55 50 50
BEM-TP-P4238 10270240 PG42 30~38 9 64 58 58
BEM-TP-P4844 10270241 PG48 37~44 10 72 65 65 2
BEM-TP-M1610 10270242 M16x1.5 5~10 7 22 20 20 75
BEM-TP-M2012 10270243 M20x1.5 7~12 7 24 22 22 48
BEM-TP-M2517 10270244 M25x1.5 12~17 7 31 28 28 18
BEM-TP-M3221 10270245 M32x1.5 15~21 8 40 36 36 18
BEM-TP-M3644 10270246 M40x1.5 22~30 8 55 50 50 8
BEM-TP-M4030 10270179 M50x1.5 30~38 8 64 58 58 8
BEM-TP-M5038 10270180 M63x1.5 37~44 10 72 65 65 4
: BHERIR

w2

\\\v;\\\‘

R
eEM
g W

EHAE

1
2

(ABB CAT.NO. IP68 CE)

S,
<




AR = PRI R B ESTARIR S = 7

ERHKBENE R

%154
EHRER
R
= Ax . B
. - R
B RIFHMIRME
FENER, BER
B IR R
SHER
{ERRE: -40°C ~ +100°C
BRiREL: IP65
IAIERR
EN45545
Rohs
EhZEE M IEC 60068-2-11:2021
CE
uL94v2
HiEE A C*1 witl w21 RERYE
Fmils ES IRLGRE mm mm mm mm mm ~/8
ATB/M12-AD10 10270358 Mi12x1.5 ADI10 8 22 20 17 48
ATB/M16-AD13 10270359 M16*1.5 AD13 9 24 22 22 48
ATB/M20-AD21 10270360 M20*1.5 AD21 9.5 33 30 30 18
ATB/M25-AD28 10270361 M25*1.5 AD28 12 44 40 36 18
ATB/M32-AD34 10270362 M32*1.5 AD34 15 50 45 45 8
ATB/M40-AD42 10270363 M40*1.5 AD42 15 60 55 55
ATB/M50-AD54 10270364 M50*1.5 AD54 17 82.5 75 75 2
i H BHTIR
1208 I = (ABB CAT.No. IP68 CE)
wi KET
ZERRE
w2 ) A\
L ER w2




8 AR = BRI R BT RIR S =

SEl R ERFHKRMNE R

L2154

ERER

R

B

iR

BB RIFHmHMEME
FENEE, BER
TSt

SHER

{ERRE: -40°C ~ +100°C
BRIRELR: IP65

IAIERR

EN45545

Rohs

EhZEE M IEC 60068-2-11:2021
CE

uL94v2

=114

HiLEE A Cc*1 Wil W2#1 w3l RNEEHE
RS MES IREHE MEME mm mm mm mm mm mm ~/8
ATB/M126-AD10 10270365 M12x1.5 AD10 3-6 22 20 17 14 48
ATB/M168-AD13 10270366 M16*1.5 AD13 4-8 24 22 22 17 48
ATB/M2012-AD21 10270367 M20*1.5 AD21 8-12 33.5 30 30 22 18
ATB/M2514-AD28 10270368 M25*1.5 AD28 10-14 44 40 36 28 18
ATB/M3222-AD34 10270369 M32*1.5 AD34 15-22 50 45 45 36 8
ATB/M4025-AD42 10270370 M40*1.5 AD42 18-25 60 55 55 45
ATB/M5032-AD54 10270371 M50*1.5 AD54 26-32 82.5 75 75 55 2

O VW 0N N N O

BOERR
(ABB CAT.No. IP68 CE)




AR = PRI R B ESTARIR S = 9

ARSI
ABBEE =T\ ANf MR o2, —BEIAEN

O1

o XT“ABBEESMHIGEIRSEZS 25, &
S REEE SEHEARERAL, e

BNRTEE B FERARIL . PRGN v,
B TE = AR E B, e

/ n‘%

~

02 4

o EAIE“FEAGERIAIL 0B T I
R, RIREMIRID LSRR, s ) g ,’
ORGSR, A, THENSEN  gSEs ==
FEERRE. BAMEEIE Bl o e -
NEEARIIFAS R A Y
Ul E v Sy — ) Y

»,

5 FHAxXE —_—
ABBESHSIRSS,

B TRIREE ABBEE S “RIEN IR
EEYNmEH




10 AR = BRI R BT RIR S =

KiNER
HIVRBME AT ERERAEATH
F, RARBITEM. EFRMWITER, WK
LSBT A, I FAXIERETEEFE
IR ATRERR D BIER, ABB AG FEKiE
[EIOEEN

BNRBRTFAXERAROINERS
HRER—1DARF, RESLIRE ABB AG BE
FE, ZIESH. AFE=HFRELFAE
MEXHEBOAR.



AR = SRR FRENTIERRS =




BXRFA]
www.abb.com.cn
ABB (FR[E) ERERSHLE
FB1%: 400-820 9696
800-820 9696 (XEtXEIEMBIF)
FBHR: contact.center@cn.abb.com

Shend

ABBESES ML ABBESHISIRSS

FEARRTEIRRF R SN E, BELSERASTIEN,
ABB (FRE) BRABIRERLMBEN.

ABBRRSHMIEITIS

1SXF700056C2001 Rev A 04-2024

BJ-SIHY



	电缆格兰
	目录
	联系我们

